Tribhuvan University
IOE Model Examination
Model Question 2075

Full Marks 140 Time : 2 hours

.‘# 5

are equal then the values of x and y are
a) 2,3 . b) 4,1
0 32 d 5,0
5. Thelines 7x—3y=5and 14x—6y—3 =0 are
a) perpendicular b) parallel
¢). intersecting but not perpendicular
d) coincident
2

- 2 - 2
3. Thevalueof axi +‘a><J +laxk| =
a) 4a b) 24°
c) a ' d) 3a
4. The expansion of (9 — 4x> ) " is valid for
1 1
a) —5<x=1 b) —2<x<3
1 1 3
c) -3 S<x<3 d) 25x<3
5. If'sin 98=sinfthen general values of 4=
a) %r b) 2nx
nw nr
.93 Dy
6. Iflog,81 = 4 then the value of a =
a) 4 b) 5
c) 3 d -4
1.. The yz-plane cuts the line joining (4, 8, 10) and (6, 8,
— &) in the ratio
a) 1:2 b) -2:3
c) 2:3. d)y 3:4
| o
8 [ sinx cos’x dr =
-l
a) 0 b) 1
i 1
9 3 d -3
lim i
9. The value of B8 x
. X — 5 z
(2 B ")
a) 1 “b) =1
90 d) none
10,

The value of k for which the one root of the equation
W+ Tx+6- k= 0is equal to zero'is
a) k=3 b) k=6

Z Za Rl +y & ’-0 iy DR
1. Iftwo matrices A = (2 ) and B = (4 7)

c) k=2 - d) “k=_5""
11, The phonemic transcription of “home” is
a) /hovm/ b) /héom/
¢) /hom/ d) /hAum/
12.  Ramesh is absent the class.
a) in " b) off
c) of il d) from
13. The house was set fire.
a) on b) in
c) into d) with
14. 1had sooner run than _ ' Lo
a) walk ' b) towalk
~¢) walking d) being walked
15. “Exzimine” takes stress. -
a) lst b) 2nd
C) 3rd : d) 4th
16. My frlend is addicted ' study.
a) to b) of '
¢) in d) by
17. 22 miles added.
a) are b) were
c) was . d) none
18. The indirect speech of: He said to me, “Good bye.”
a) He good byed. b) He byed good.
¢) He bade me good bye.
d) Good bye is baden to me.
19. He is having a suit .
a) make b) made
c) tomake d) making
20. If you leave them alone, they home.
a) will come b) had come
c) could come d) would have come
21. My friends as well as 1 joining the
army.
a) were b) am
c) are 4 d) is
22. lloveyou, 7
a) dol b) don’tyou
c) won’tl d) you do, do you
23. Prepare yourself for the exam.
a) Let you be prepared for the exam
b) Be prepared for the exam.
c) "Let the exam be prepared by you
d) botha) & c) _
24. She dressed as if it winter,
a) is ‘ _ b) ' were
c) had ‘ .d) was |
25. A body cannot have a ’

a) zero speed and non zero acceleratlon e

. b) non zero speed and zero acceleratlon

c) constant velocity and a varying speed
d) . constant speed and varying velocity
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26.

+ 27,

28.

29.

30.

31.

32,

33.

A -hunter aims at a monkey sitting on a tree at a
considerable distance. At the instant he fires at it, the
monkey drops. Will the bullet hit the monkey?

a) No b) Yes

¢) Sometimes d) Never

Two identical rectangular strips, one of copper and
other of steel, are riveted together to form a
bimetallic strip (opper > Gsreer)- On heating, the strip
will

a) remain straight

b) bend with copper on convex side

c) bend with steel on convex side

d) gettwisted

Suppose a tunnel is dug along diameter of the earth.
A particle is dropped from a point, a distance h
directly above the tunnel, motion of the particle is

a) Simple harmonic b) Parabolic

c) Oscillatory d) Linear

In a region with a uniform electric field, the number
of lines of force per unit area is E. If a spherical
metallic conductor is placed in the area, the field
inside the conductor will be

a) zero b) E

¢) more than E v d) lessthan E

Two electric bulbs of same power, but with different
marked voltage are connected in series across a
power line. The brightness will be

a) directly proportional to their marked voltages
b) inversely proportional to their marked voltages
¢) directly proportional to their squares of their
marked voltages

d) inversely proportional to their squares of their
marked voltages
A coil carrying a heavy current and having large
number of turns is mounted in a N — S direction
vertical plane. A current flows in the clockwise
direction. A small magnetic needle at its center will
have its N - S pole in '

a) E—N direction b) W - N direction
¢) E-Sdirection d) W -—S direction

By properly combining two prisms made of different
materials, it is not possible to 4 .

a) have dispersion without average deviation

b) have dispersion without deviation

¢) have both dispersion and aVerage deviation

d) ha\{e neither dispersion nor average deviation

g‘lzct(’;?‘:}‘i :g.éigl::ﬁln;sm ;i):::;oelectric equation, the

ted photoelectyons from a

m_etal Vs t.he frequency of the incident radiation
gives a straight line whose slope

a) depends both on the ‘intensi adi
ty of the i
and the metal used ] ; rfation

b) depends on the intensity of the radiation

34.

85.

36.

37.

38.

39

40.

41.

42.

43.

44,

45.

46.

c) depends on the nature of the met
d) is the same for all the metajs an
the intensity

al ugeq

: "ndepenqey of
According to Bohr’s model 6f H-atg

. - m, the 1
a stationary orbit characteriseq by the Tadiyg ¢

quantum number # is proportional to Pringipy
a) n"l b n
C) n- d) n2

Equivalent weight of crystalline oxalj¢ acid is-
a) 90 b) 53

c) 63 d) 45

0.85 gm of silver salt of an acid gaye 0.54
silver metal. The equivalent weight of acig is
a) 46 b) 49

c) 60 d) 63

Which of the following pair can act as oxidizing a
well as reducing agent? \

a) H,O,and SO, b) Clyand HNO,

¢) H,0, and HNO; d) Br,and HIO,
Maximum ionic character can be found in

a) HI b) HBr

c) HCI d) HF

Which of the following isoelectron,ic’species has
largest size? '

a) N* by 0>

g) F d) Na'

The volume of CO, delivered from 10 litres
container containing 3.3 Kg of CO, at NTP is

a) 1680L b) 1690L

c) 1670L d) 1960L

lodine shows the highest oxidation state in the
compound :

a) KI b) Kl

) IF; d) KIO,

The hydrogen phosphate of a certain metal has

formula MHPO,. The formula of metal chloride
would be '

gram of

a) MCI b) MLl

¢) MCl, d) MClL

Bronze contains =

a) Cu+Sn b) Cu+Mn

¢) CutZn d) Cu+Ni

China white is o

a) ZnO ~ b) ZnCOs -
¢) ZnS ' d) ZnS+BaSH!
Chain isomer differ in = ight
a) empirical formula b) molecularwe]gh‘ '

¢) molecular formula 3 e
d) length of carbon atom - ized inthe

The first organic compound was synthes
laboratory by g

a) Kekule

b)~ Liehig °
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a7.

48.

49.

50.

a) justafter quarrying

<) Lavoisier

renewal energy?
a) bioethanol
c) fire wood

d) Wohler 59 Th‘er “of mixin
' o r. . roce
Which of the following is not the example of ingred‘;entsstz r::kenttl;i‘:l]cgis z::ﬁ;,d el
. a) moulding. b). tempering
b) wind energy c) plugging d) blending
d) none of above 60. Gypsum is added in cement

The building stone can be dressed easily

b) after.seasoning
¢) after some months of quarrying

d) anytime

The rounded aggregate is obtained from

a) river b) crusher

¢) volcano d) all of above

Sludge in transformer oil is due to
a) decomposition of oil

 b) decomposition of insulation

51.

52

53.

54.

55.

56.

37.

“a) super charging b)

c¢) moisture content in oil

d) none of the above

The ‘characteristics of fuse wire is

a) high melting point and high specific heat
b) low melting point and low specific heat
¢) high melting point and low specific heat
d) low melting point and high specific heat
(1111 1111), is equivalent to Mols

a) 256 b) 255

c) 252 d) 200

CRT stands for

a) Cathode ray tube

c) Compact ray terminal
d) Cathode ray terminal -
The process of supplying intake air to the engine
cylinder at a density greater than the density of the
surrounding is known as

b). Compact ray tube

scavenging

¢) polymerization d) detonation

In petrol engine suction consists of

a) aironly '

b) amixture of air and fuel

c) fuel only °

d)none

Transfer of electrical power from primary o
secdndary in a transformer takes  place

a) electrically

b) electromagnetically

c) magnetically A

d) none ' .

The ‘rate at which electricity is dissipated oOf

- consumed by an appliance is called electrical

b) power
d) energy -

a) current

¢) potential
MBR stands for.
?‘)"T.Méster booster record b) Master bo
‘ Mother board rating d) none

ot record

62.

63.

64.

65.

66.

67.

68.

69.

a) after burning
c) after grinding
d)at the time of mixing raw material

b) before burning

= 1, theis |

If x + y=kis normal to y
a) 9 b) 3
o -9 ©od) -3
Ifxv=y‘thengzx=
Y y txlo
2 ¥ b)-% (v log x +x)
y(xlogy—y) —X
©) x (ylogx—x) d) y

If pair of lines x> —2pxy—y*=0and P -2qy -y =
Obe such that eachpair bisects angle between other
pair then pg = A
a) 1 b) -1

1
d) 3
If the cosines of two angles of a triangle are
proportional to the opposite sides then the triangle is
a) rt.angled b) an equilateral
c) anisosceles d) scalene ‘
The points of discontinuities of the function flx) =

c) O

x+1
Y-5xr+6 are
a) 0,1 b) 2,3
c) -2,3 d 0,2,3
If cos (2sin"' x)= ‘;‘ then x =
1 2
a) *3 b) 5 i
1 1
c) 5 d) 4
’ 6
The value of (2 + 5w + 2w’y =
a) 729 , b) 512
c) 256 d) 128

A plane meets the co-ordinate axes in points 4, B, C

and the centroid of the triangle ABC is (@, £, 7) then
the equation of plane is ogion

x y z_L 1’£+§-Z+§£‘=l

a) a+ﬁ+7 3 . b) a By 3
- Z =

c) §+%+-=3 d axtpytr=3

The gradient of the one of the lines ax’ +2hxy B
=0 is twice that of the other; then. I " fn
a) H=ab b_)» h f'qb"'
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70.

71.

72.

74.

Read the passage carefully and

e
¢) 8h*=9ab dy 9’ = gab .
The area of the triangle formed by the _lme kx _y
12 with the co-ordinate axes is 6 sq. units then k =

b) 6
a) 3
c) 4 4.8
-ex x—1 _
J.(x+1) @ )
S+ a
a) ex e b)) Tiite
v e.\‘
4 +
O Gt Ve
< . -1
sin (tan " Xx o
Jela
0
1
1
c) -l d) 7

The area bounded by the line x — 2y +2 =0, the
ordinates x = 1, x = 2 and x-axis is

a) b)

c)

The number of ways in which the letters of the word
“arrange™ can be arranged so that two »’s don’t come
together is

a) 900 ‘ b) 1260

c) 360 d) 1620

If the sum of three terms of G.P. is 19 and product is
216 then the common ratio of the series is

d)

N O
ENIES I N S

3

D -2 0} %
1

) 3 d) 4

select the best
alternatives:

Speech is great blessing but it can algo be a great
§ to make out intentjons and

Nds carefu] handling‘.

Questions:

76.

71.

78.

79.

80.

al.

82.

83.

84,

85.

Speech can be a curse, because it can
a) reveal our intention b)
c) hurt other

d) create misunderstanding ;
A ‘slip of the tongue’ means Something gai4

a) unintentionally b) * wron

c¢) without giving proper thought Bly by fthanCe.
d) to hurt another person

The best way to win a friend is to avoid
in speech. -

a) ambiguity b) verbosity

c) pomposity d) irony

While talking to an uneducated person, we shoulg
use

a) polite language b) ordinary speech
¢) his vocabulary d) simple words

A rectangular vessel when full of water takes 10 mip
to be emptied through an orifice in its bottom, How
much time will it take to be emptied when half fijeg
with water? ' '

a) 9 min b) 7 min

¢) 5min d) 3 min

A body slides down a frictional track, which ends in
a circular loop of radius r. What should be the

lead to carelessness

'\'

-minimum height h of the body so that the ball is just

able to complete the vertical circular motion?_

Sr S5r

a) B b) 4 .
2r ‘ F

9 % » 3

A balloon of mass M is rising up with acceleration
then to double the acceleration, the fraction of
weight of balloon to be detached is

a : . 2a .
3) 2a+g . b) atg

a a+g"
C) a+g d) 2z

A rifle bullet loses 271)1[; of its velocity in passing

through a plank. The least number of such planks
required to just stop the bullet is

) 5 b) 10

c) 11 d). .20 ...
The moment of inertia of a rod is / an
Coefficient

d the -

of linear expansion is &
temperature rigeg by a small amount A6, the
change of moment of inertia is nearly

a) IlaAg by 2/erd
©) 4lang d) 6lanb .,
Two progressive waves are represented 008 +
0.06 sin2 (0.04 + 0.1x) ¥, = 0.03 sin27 (

n the_-";,”'
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86.

) 33m/s .

87.

88.

89.

) 1Q

90.

91,

- 92

o) 2.5 d)

02v) The ratio of intensities of two waves produced
by the vibrations of two particles will be

g 1 b) 2:1

0 4! d 16:1

The apparent frequency noted by a moving listener
from the stationary source is 10% less than the real

frequency. 1f the velocity of sound is 330 m/s, the
velocity of the listener is :

2) 165m/s b) 8.25m/s

| d) 66m/s

The plate of a parallel plate capacitor are charged up
to 100 V. A 2 mm thick slab is inserted between the
plates,then to maintain the same p.d., the distance
between the plates is increased by 1.6 mm. The
dielectric constant of the slab is

a) 3 b) 3

1.25

A charge g is placed at the center of the line joining
two equal charges Q. The system of the three
charges will be in equilibrium if g is equal to

02 v
9 40 %

Two identical cells send the same current in 3 Q
resistance whether connected in series or in parallel.
The internal resistance of the cell is

b) 3Q

c) 05Q d) 35Q

A 25 W, 220 V bulb and a 100 W, 220 V bulb are
joined in parallel and connected to the 220V mains.
Which bulb will glow more brightly?

a) 25 W bulb b) 100 W bulb

c)both will glow with the same brightness

d)none i ST

A slit of width 12 x 107 m is illuminated by light of
wavelength 6000 A. The angular width of the central
maximum is approximately “

a) 30° b) 60°

¢) 90° d) 0°

A fish rising vertically at speed 3 m/s to the surface of
water sees a bird diving vertically towards itself at

4
. -speed 9 mys, If the refractive index of water is 3 the

" actual velocity of diving bird is -
©-a) 4dmfs -

“€)" '6m/s
93,

b) 4.5m/s
d) 84m/s

What will be the number of photons emitted per

second by a low. sodium vapour lamp assuming that
90% of the consumed energy is converted into light?

A .(W@Veiength of sodium light is 590 nm). -
@) 2:67x10"

b) 2.67x10"

94.

9s.

96.

97.

98.

99.

100.

©) 267x10% .- - -d) 2.67x 107

If an electron jumps 'f‘r.om”foui't‘h excited state to
second excited state, the number of emission
transitions between these states will be

a) 6 b) 4

c) 3 _ T\

Which has the highest mass?
a) 50 gram iron

¢) 0.1 gram atom of Cl,

d) 10* atoms of carbon

b) 5 moles of N,

The no. of hydrogen ions present .in 1 ml solution
having pH value 3.

a) 107 b) 107

¢) 6.022 x 10° d) 6.022 x 10"

The metallic chloride contains 71% chlorine. The
vapour density of metallic chloride is the formula of
metallic oxide is

a) MO b) MO

c) M0, d) MO, ;

The product obtained by treating ethanol with
alcoholic KOH is treated with alkaline KMnO4
solution then one of the following is obtained

a) ethylene glycol b) formic acid

c) oxalic acid d) acetaldehyde

In orthographic projection the top view is circle, the

front and side view both are triangle, then the solid
object is a -

a) Sphere

b) Cylinder
¢) Prism

d) Cone

Select the correct object for the given orthographic
projection.

"N,

AP
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IOE MODEL TEST 2075

Hints & Solution

G -G 9

1. (a)
So, x+y=5 and2x=4 = x=2
So, y=3 o
2. (b) Line(i)is 7x-3y—-5=0
3
Line (ii) is 7x — 3y — 5—0
Here, m, =m
: N o2 = =2 - )2
3. (b) axil +laxj| +laxk

2. 2 .
= a’sinfa+ a’sin’ B+ a’sin’y =24

172
4 @ 0-49"=3(1-%)

452
This is valid if — < 1

9
9 3 3 3
2.2 2 2 =l
_ X<z o |_7c|<2 Som5Sx<5
5. (d) sin9@—sin@= 0
=  2cos568—-sind8=0
= [2sin48- cos@—sind 8= 0]
Either, sind@=0
= 40=nr 9=%[
6. (¢ log, 81 =4
81 =a"
3*=d* a=3

7. (b) Points are (4, 8, 10) and (6, 8, —8)
Point on yz-plane is (0, y, z). If k : 1 is the ratio,
k-6+4 B o, 2
So,Q= it 1 = 6k——4..k——3

8. (a) Letf{x)=sin’x cos’x

Putx=-—x
fi—x) = sin® (= x) cos® (— x) = — sin’ x cos’ x = —
fx)

It is odd function. Hence, | f(x) dx=0
2

5 . (_7_1' i ; T
im sin 2—x m —sin x—2

9. _(a) x_)%r-g:;)——=x_’%r@=‘l

10. - (b) One root (@) = 0

c
So, aff=0; pe =0 or, 3 =0 .. |k=6

. 26.

217.

Note: If it does not drop at the time of firing,

28.

29.

30.
31.

32.

36.

37.
38.

39.

40.
41,

42,

(¢) Constant velocity means co

A nStant speeq =
direction. Nt SPeeding Particy
ar

b) The bullet will hit th if
(b) ! will hit the monl_(ey, if it drops,
(b) On heati

CUl:”Steel \-awmg Couf | [Steer

T=0
the bulles won't pjs

(a) When a particle is dropped fro i
centre of tunnel o = height above the
(i) it will oscillate, through the earth to a hei
both sides. , A

~ (i) the motion of particle will be S.H.M.

(a) Electric ﬁe'lzd inside a conductor is zero.

© P=k=F |

(b) When the plane of coil is in N — S direction vertical
plane and current is passed in clockwise direction, the
magnetic field at the centre of coil due to current js
directed E to W. Earth’s magnetic field is S to N. So,
the direction is W —N. : 4

(d) We can combine two prisms in such a way .
(i) deviation is zero but dispersion is not
(ii) dispersion is zero but deviation isnot -
But in any situation, both cannot be " zero
simultaneously. ; :

(d) KE =hv-¢
Slope of K.E. and v is h (Planck’s constant)

(d) recn’

ght  on

(c) Eq. wt. of crystalline oxalic acid (COOH)z

2
d Wt. of silver salt _Eq. wt. of sﬂver salt
@ “Wt. ofsilver ~  Eq. wt. of silver

()

(d) HF > HCI > HBr > HI sy

decreasing order of ionic character . HF ]

[ Electronegativity difference is maximum "Laviﬂg
(a) For isoelectronic - species, Specws e ¢
maximum no. of proton is smallest in Sllar
species having minimum no- of proton 1s‘
. insize. -
®
(d) In KIO,, + 1 +x+4><(— = thel's)

(which is maximum as compared 10
(c) MHPO, — M"™ +HPO4 ~
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44. (a) 45. (d) 46.
52: (b) 53. (a) 54. (a) 55:
57. (b) 58. (b) - 59. (b) 60.

61. (a) Comparing 3* = 12x withy? = 4ax, a =3

y = mx — 2am — am’

Equation of normal is:
: So, y=—x+k
S ‘m=-1
Putting value in (i),
y=—-x+2a+a=-x+3a=-x+9
k=9
62. (c) Taking log on both sides,
y log.x = x log,y

: d 1
So log.x - ;,)25+y —=x- Z}Hogc
dy (xlogy-— Xl()
dx_(ylogx—x) x

63. (b) The pair of lines bisecting angle between pair of
lines x*—2pxy—3»*=0is
—p (@ -y)=[1-(Dlxy
or, — px2 &+ py2 =2xy

or, px’+2xy Tl | S (1)
The equation (i) is identical to given pair of line,
Bremre e
12 2q 1 = p=El
.cos4 cosB
64. (c) A = &
bcosA=acosB
2R sin b cos A = 2R sin a cos B or, 2R [sin
(B A)]=0
sin (B — A)—sm0 S |B=4
65. _oo_x+l S-S s I
@ o) X -52+6 x (x*—5x+6)
x+1

. The function is not defined at x = 0, x =2 and x
S =, 3 3 ) A
i.e., Point of discontinuities are x =0, 2,3
1
cos (2sin”' x) = -19- or, 1 —2sin’ (sin”' x) =35

- 4 = .
or, 1—’2.x2=% 7 or,x2=§:_ ox=%*

66. (b)
2
3

- @) @+ swrowd

(d)

" ()

(b)
(®)

68.

69.

70.

71.

7.

73.

T T

—[2(l+w2)+5w]

o

- 2w + 5wl = W)
3w=729-1=729 &
: X Y 2
5@) {Equation of plane e
6. Ple centroid of = AABC
(a+0+_0 0+5+0 0+0+c)_(g b
3 3 ’ 3 ~\3°3°3
a b ¢
(a’ﬂ: 7’)_(3s 3 3)
So —+'§+;=3 [From (i)] 3
(c) Lety = mx be one of the line represented by ax2
+2hxy+by =0
ie. x*(a+2mh+bm*)=-0
bm*+2mh+a=0 ... (i)
Let the roots be aand 2a.
2h 2h
sum(a+2a)=—7 or, a=73y
Product, a- 2a= % ............. (i)
2k
So, 2( 3;) -2 = [8#7=9ab
(¢) kx+3y=12
Equation of line is
X Ko
12 4
&
1 12 1 12 -
AreaofA=2- T -4 or,6=§'- P -4
or, 6k =24 =
ef(x=1) [é (x+1—
(© ‘[(A+1) '[ (x+1) dx
= Ie“' R dx =——é‘+z+c
(x+1)?  (x+1)° G+1)
IMP: [ J-e‘r )+ )] de=€e fix)+c]
[ sin tan”' x g -
(b) I—j 1+ dx_ ~Put tan” x=¢
0 57
. : , w2
So,’Tsz-dx=dt Now, / = {Sintdt
[—cos]:2=—cosg+coso#l
(d) Equation ofline:x—2y+2=0 = 2y =x

2 -=:>y—‘§+1

2 2 _
Area bounded (4) = ,[ ydx = I (% + l) dx.

B
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74.

5.

1 x? i l 2
2 2

S|
=Z+1 4 sq. units

' - 7!
(a) No. of arrangements with no restriction =775y =
1260
No. of arrangement when two 7’s come together
6!
=" 360

No. of arrangement for which two r’s do
not come together = 1260 — 360 = 900

(b) Let, gr , a, ar be terms of G.P.
Then, %x axar=216

Also, ‘-;+a+ar= 19

or, a+ar+ar*=19r
or, 6 —9r—4r+6=0

81. (a) When a body falls from a height A, it acquires a

velocity v =+[2gh

From question, \} 2gh= \] Sgr

or, 2gh=sgr: =
8. @ () R=m(g+a)

(i) R=(M-m)(@g+ 2a)
Solving (i) and (ii)

m. g
M 2a+ g'
83. () Velocity loss through a plank = % O 14
n
n=20.

: .‘ | 20
.N(.)'. of planks required = 5+ 1 =T +1=11

84.

85.

86.

87.

88.

90.

91.

92.

(b) I=MR*

(a)

(c)

(2)

(b)

(b)

or,

or,

(®)

(b)

(b)

sz Hz RI

1.=MR,2
Now, =R[l+aAg]
Rz—R2[1+aA9]2
R2[1+2aA6’]
Iy =MR? *MR2[1+2aA6]
h=1=MR*[1+2aAf) - MR? = MR? y
=Ix2aA8=2IaAl - - @46

[ Note: Better to rememb?l

2 . .
R*[1+2a4¢4 2ag4.

Comparing the waves with the €quation y = , Sindy
t+= =0.06, =
(f A 9 =0.031
0.04, fz =0.08
As la a*f?
L _a’ £’ 006 0.04? ;
So, I, = 2% %‘0.03”‘008’“ 11
V-V V
f'= v Xf = 0 9f_ )(f = 09
Vv=v-V, ‘
o V,=0.1 V=0L1x330=33m/s
.
Using the tactic, x = ¢ (l _E) = 16=2 (1 _%)
| 4_, 1
7 5K
1 1
or, k=5 . K=5 N
For the system to be in equilibrium, net force on 0

should be zero i.e. Fy + F, =0
0 =L L 4 —— — =)
" oamg ¥ ame (07

q=—% 0 - )
—x—> &3>

1 series =1 parallel

In parallel .combination,
L, _H R, P

L P
L _ 4 A
i.e. L," P, s LoaxP
So, 100 W bulb will glow-more brightly-
Angular width =26 £
hA_1x6000x1070_1_ cis00
Butsing="7"= 2x100 2 .

App. height of bird
Real height of the bird

. Apparent height = s, where x be:
Let actual depth of the fi sh be y

S 8S= =y+ 10

u= ,
,eal heigh
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ds_dy  pdx 4dx -
or, = art dr = 9=3+34

dx _
dt—4.5 m/s

(b) Light energy produced per second, pP= % % 10

=9W
nhc
Now, P—,l where =1

fu—

93.

9 x 590 x 107
n=662 %107 x3x10°
(c) Fourth excited state means n, =5
- Second excited state means n; =3
An=5-3=2

=2.67x 10"

94.

Using the tactic,

95. (b) 50gm of Fe — 50 gm 0 1 gm atom of 02
— 0.8 gram
5 mole of N, — 140 gm 10 atom of
carbon — 2 gm
" 96. (d) No.of H (ions) = Vol (lin It.) x 107" x Na
Wt. of chlorine Eq. wt. of chlorine
.97' (®) "Wt of metal Eq. wt. of metal

98. (a) CH;— CH,— OH +KOH (alc.) =~ CH, = CH;

(ethene)
CH, = CH, + Hy0 + [0] et CH; — CH,

99. (d) 100. (b)
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